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(3)
(2)
(iii] THA WS NNP

fii) <& 1. NNP at market price
J. B. Say (iv) TR TS GNP

fiii) &, 99, @%m GNP at factor cost
J. M. Keynes (d) % TS 2RTS (APC) =

(iv) S*[F gwe F2 Average propensity to consume (APC) =
None of them il AC/AY

(b) 143 qaFm o w A W C/Y

The consumption of fixed capital is fi) Y /C

known as (iv) AS/AY

i (123 (e) =TEIFS R g
sk e o What is fiat money?

(i) Fea o= e
capital formation () T SO e % e oy fida

A7

(i) RFzns fem _
. On which factor Keynesian theory of
mvestment

employment depends?
(iv) S*M9 RERAR | (i) & v

All of the above Effective df:m&t‘!d

(o) =18 Wy vy i Suppl
National income ig (i) t;prr;y?ﬁ@f
i}
) TAME e NNp Production efficiency
NNP at factor cost {iv) ‘@*7F gbre Fuy
i) e e NDP | i None of the above
NDP at factor cost 24Pf1179 { Turn Over )
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fg) qardifer ob Teoem Somy a9

Mention one benefit of inflation.

i) W MPC = 0-80 =3, core Rficas a9e1 I
LK |

If MPC =080, then the value of
investment multiplier is

@ 4
(i) 8
fiti) 5
fiv) s*47 qbrs 7=y

None of the above

2. "W B I bR e 5y bR (=ifechy
dto =7 fowwe) 4x4=16

Write short notes on any four of the following
(within 150 words each) : '

() RIS WA oy

Objectives of macroeconomics

(b) A “4$% GDP
Nominal and real GDP

(e} rfaE viEm ffes
Determinants of aggre'g:éte demand
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(5)

(d) &3 75" /R
Say’s law of market
(e} . TER Frid

Functions of money

S R mﬁm(ﬂﬁzﬁ ¢oo "4 foeas) ; |

Answer the following questions (within 500 words
each) :

3. (a) mﬁwwmwwﬁﬁ?mﬁwﬁfﬁrwr
TS WA oS W sifom e
4] | : 5+7=12

Distinguish between micro- and macro-
economics. Discuss the nature and
scope of macroeconomics.

431/ Or
(b) TR GRAPE U L 6+6=12
Explain the following concepts :

() BT Tae T e

Ecanﬁmic_ growth vs, %tahii-izaﬁon

(i) FEAE IF Gohn e et

fomrgm i
Classical and Keynesian macro- |
economic thoughts GET NG I_;'
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4. (a) TP T TerE AF FR [ AT

&ISE W FH| GDP UF FAIR AEA 6. (a) ®TR wF fre AW ke v
ool F) 9 7+4=11 SRACFATCATTE, 047 34 | 11
Explain the value-added method of Explain critically the classical theory of
computing GDP. What is the relationship determination  of  output  and
between GDP and welfare? employment.

WY/ Or JqH41 Or

(b) CHETON IRES SN W T AT P
T =W ? 0 FA
How is equilibrium level of income

determined under the Keynesian
system? Explain,

(b) Tailfss weffifs sl s sge gam
41 | GDP SIIF GNP 4 754 *f19f57 fdfy w41 |
6+5=11
Explain the circular flow of national
mcome in a two-sector economy.

Distinguish between GDP and GNP. | 7. (o) FER Y e B ogmo e qum AR
TGO TALASAPTE. I %41 | 3+8=11
5. (@) RFcms Wewm @& 2 fifees Afw } What do you mean by the value of
SPITIET Wiew fomn | RfeE ECEE ﬁﬁ’lﬁ’i‘{{ money? Critically examine Fisher's
BRI S ! 1+3+7=11 quantity theory of money.
What do you mean by investment? A O
Define  different types of investment e RmEEe ;
> . T T e 4+4+3=11
Explain the determinants of the level of ) A
investment. Explain the following :
Y/ Or M HEH AR
Types of money
(®) mﬂw-ﬁs?ﬁwwhﬁm{qﬁ | i) qar
7 MPC 3 a%3 T w911 2+4+5=1] o ot
¥ fioy
What is consumption function? What are : v
the properties of consumption function? fm) A EH
-1 Explain the significance of MPC.

- Measures of money
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